
Opérations Mixtes (G)
Trouvez les chiffres manquants.

1 0 2 8 28 4 0 2 5 25 4 0 5 4 54 1 0 8 7 87 2 1 4 7
+ 4 7 47 ÷ ÷ 5 5 ÷ ÷ 9 9 + 4 3 43 - 8 0
0 7 5 75 0 0 5 5 0 0 6 6 1 3 0 130 0 6 7

3 0 0 8 8 3 0 1 1 11 2 0 9 7 97 2 1 1 5 115 4 1 0 8
× × 6 6 × 1 1 11 - 3 0 30 - 4 9 49 ÷ 1 2
0 4 8 48 1 2 1 121 0 6 7 67 0 6 6 66 0 0 9

3 0 0 8 8 1 0 9 3 93 2 1 2 4 124 3 0 1 2 12 2 0 8 5
× × 7 7 + 7 2 72 - 9 3 93 × 1 0 10 - 3 8
0 5 6 56 1 6 5 165 0 3 1 31 1 2 0 120 0 4 7

2 1 5 0 150 3 0 1 2 12 2 1 4 0 140 3 0 0 8 8 1 0 7 3
- 6 7 67 × × 9 9 - 4 7 47 × 1 0 10 + 3 1
0 8 3 83 1 0 8 108 0 9 3 93 0 8 0 80 1 0 4

3 0 0 5 5 3 0 0 6 6 3 0 1 2 12 1 0 6 2 62 4 0 3 0
× 1 1 11 × × 7 7 × × 5 5 + 3 9 39 ÷ ÷ 6
0 5 5 55 0 4 2 42 0 6 0 60 1 0 1 101 0 0 5

4 0 4 2 42 4 0 9 9 99 2 1 7 5 175 2 1 0 3 103 2 1 1 8
÷ ÷ 6 6 ÷ ÷ 9 9 - 8 3 83 - 2 8 28 - 7 6
0 0 7 7 0 1 1 11 0 9 2 92 0 7 5 75 0 4 2
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